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S²Ì!“þ!Ýþ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þöìîûyV 
 

!î¦þy† éôé „þ 
 

£zvþz!˜Ýþ éôé 1 

1Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×5]þ 

 „þV Kþy˜ xyîû !îÙ»y¢ !„þ x!¦þ§¬Ú ö²ÕöìÝþy ö„þ x %̃¢îû’ „þöìîû vþz_îû ”yçÐ 

 …V xÄy„%þ£z˜y¢öì„þ x %̃¢îû’ „þöìîû {Ù»öìîûîû x!hßþöìcîû þ™öìÇþ xy!”„þîû’ !î¡ìëû„þ ë%!_« (First Cause argument) îÄy…Äy „þöìîûyÐ 

 †V ö²ÕöìÝþyîû ›öì“þ •yîû’yîû ÷î!ŸÜTÄ=!œ „þ# „þ#Ú 

 ‡V xÄy!îûÞÝþÝþœ vþzþ™y”y˜ „þyîû’ ç xy„þyîû†“þ „þyîû’ îœöì“þ „þ# öîyöìGþ˜Ú 
 

2Ð öë ö„þy˜ ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ  

 „þV ö²ÕöìÝþyîû ›öì“þ Kþyöì˜îû œÇþ’=!œ „þ# „þ#Ú £z!wëû ²Ì“þÄÇþ Kþy˜ ˜ëû — ö²ÕöìÝþyîû ~£z ›“þ xyöìœy‰þ˜y „þöìîûyÐ [5+10] 

 …V ö²ÕöìÝþyîû •yîû’y“þöì_´îû !îîû&öìkþ xÄy!îûÞÝþÝþöìœîû öë ö„þy˜ !“þ˜!Ýþ S“,þ“þ#ëû ›y %̃öì¡ìîû ë%!_« îy” !”öìëûV xyþ™!_ îÄy…Äy „þöìîûyÐ ö²ÕöìÝþyîû 
!îîû&öìkþ xÄy!îûÞÝþÝþöìœîû “,þ“þ#ëû ›y %̃öì¡ìîû ë%!_«!Ýþ „þ#Ú [12+3] 

 

£zvþz!˜Ýþ éôé 2 

3Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×5]þ 

 „þV òxy!› !‰þhsþy „þ!îû– x“þ~î– xy!› xy!Šéó ~!Ýþ !„þ ö„þy˜ ˜Äyëû x %̃›y˜Ú xyöìœy‰þ˜y „þöìîûyÐ 

 …V !ßþ™öì˜y‹yöì„þ x %̃¢îû’ „þöìîû oîÄ ç =öì’îû ¢Áºõþ îÄy…Äy „þöìîûyÐ 

 †V œy£zî!˜‹öì„þ x %̃¢îû’ „þöìîû öëï!_«„þ ¢“þÄ ç îlßþ‡!Ýþ“þ ¢öì“þÄîû ›öì•Ä þ™yíÅ„þÄ „þöìîûyÐ 

 ‡V !ßþ™öì˜y‹y „þ#¦þyöìî ò!î„þyîûóéôé~îû (modes) œÇþ’ !”öìëûöìŠé˜Ú xyöìœy‰þ˜y „þöìîûyÐ 

 

4Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ 

 „þV ö”„þyöì“Åþîû ›öì“þ ¢“þÄ“þyîû ›y˜”[þ „þ#Ú !“þ!˜ „þ#¦þyöî ~£z ›y˜”öì[þ vþzþ™˜#“þ £öìœ˜Ú ›y˜”[þ!Ýþ !„þ ö“þy›yîû „þyöìŠé @ùÌ£’öìëy†Ä 
îöìœ ›öì˜ £ëûÚ ë%!_«¢£ vþz_îû ”yçÐ [2+8+5] 

 …V œy£zî!˜öì‹îû ›˜yvþ“þ_́ îÄy…Äy „þöìîûyÐ ›˜yvþ=!œ ë!” †îyÇþ!î£#˜ £ëû “þy£öìœ “þyöì”îû ›öì•Ä ¢Á™„þÅ „þ#¦þyöìî ¢½þîÚ 
œy£zî!˜‹öì„þ x %̃¢îû’ „þöìîû xyöìœy‰þ˜y „þöìîûyÐ [8+7] 

 

!î¦þy† éôé … 
 

£zvþz!˜Ýþ éôé 1 

5Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×5]þ 

 „þV !˜îûöìþ™Çþ î‰þöì˜îû ¢yöìî„þ# ç î%œ#ëû ¦þyöì¡ìÄîû ›öì•Ä þ™yíÅ„þÄ „þ# „þ#Ú 

 …V ¢“þÄyöìþ™Çþ„þ öëï!†„þ îyöì„þÄîû ¢öìD xéôé¢“þÄyöìþ™Çþ„þ öëï!†„þ îyöì„þÄîû þ™yíÅ„þÄ „þ#Ú 

 †V òîlßþ†“þ þ²Ì!“þþ™!_îû ö£¤ëûy!œó îœöì“þ „þ# öîyGþyëûÚ 

 ‡V vþzþ™ë%_« vþz”y£îû’¢£ òxíîyóéôé~îû !î!¦þ§¬ xíÅ ¢‚öìÇþöìþ™ îÄy…Äy „þöìîûyÐ 
 

6Ð öë ö„þy˜ ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ  

 „þV ˜#öì‰þîû ²ÌÙÀ=!œîû vþz_îû ”yç ƒ  

  xV !˜Á¬!œ!…“þ îy„þÄ=!œöì„þ ë%!_«!îKþy˜ ¢Á¿“þ !˜îûöìþ™Çþ î‰þöì̃  x %̃îy” „þöìîûy ƒ [4] 

   i) ‹˜!²Ìëû ²Ì‰þyîû„þ ¢î¢›ëû ”Çþë%!_«!î”ä £˜ ˜yÐ 



(2) 
 

   ii) ¢î ¦þyœ ëyîû öŸ¡ì ¦þyœÐ 

   iii) ¢y”y £y!“þ xyöìŠéÐ 

   iv) Šéyeîûy ö„þîœ›ye ¢y›öì˜îû ”îû‹y !”öìëû ‘%þ„þöì“þ þ™yöìîûÐ 

  xyV ö×!’ ¢Áºöìõþîû !¦þ!_öì“þ !˜îûöìþ™Çþ î‰þöì˜îû þ²Ì„þyîû=!œ xyöìœy‰þ˜y „þöìîûyÐ [4] 

  £zV ”%!Ýþ þ™îûßþ™îû öŠé”Ä›y˜ î,öì_îû ¢y£yöìëÄ „þ“þ=!œ ö×’# þ™yçëûy öëöì“þ þ™yöìîûÚ îÄy…Äy „þöìîûyÐ [3] 

  {V !˜Á¬!œ!…“þ x %̃›yöì˜îû ö„þy˜ þ™”öìÇþöìþ™îû ¢y!_„þ“þy ö”y¡ì ‡öìÝþöìŠéÚ [4] 

     1Ð ~ó„þíy !›íÄy öë ö„þy˜ ö„þy˜ ›ê¢Ä„þ˜Äy „þ!îÐ 

     2Ð ~ó„þíy !›íÄy öë ö„þy˜ ö„þy˜ „þ!î ›ê¢Ä„þ˜ÄyÐ 

     3Ð ~ó„þíy ¢“þÄ öë ö„þy˜ ö„þy˜ „þ!î ›ê¢Ä„þ˜Äy ˜ëûÐ 
 

 …V ˜#öì‰þîû ²ÌÙÀ=!œîû vþz_îû ”yç ƒ  

  xV !˜Á¬!œ!…“þ ë%!_«=!œöì„þ !˜îûöìþ™Çþ ˜Äyöìëûîû xy„þyöìîû x %̃îy” „þöìîûy– ›)!“Åþ ç ¢‚ßþiy˜ !˜’Åëû „þöìîûy– ö¦þ˜!‰þöìeîû ¢y£yöìëÄ 
÷î•“þy !î‰þyîû „þöìîûy ~î‚ x÷ìî• £öìœ ö„þy˜ ö”y¡ì ‡öìÝþöìŠé “þy vþzöìÍÔ… „þöìîûy Söë ö„þy˜ ”%!ÝþV ƒ [4+4] 

   i) ¢î ö²Ìy!Ýþ˜£z ÷‹î öëï†– ëy öíöì„þ îœy ëyëû ¢î ~˜‹y£z›£z ö²Ìy!Ýþ˜– öëöì£“%þ ¢î ~˜‹y£z›£z ÷‹î öëï†Ð 

  ii) „þyîû…y˜y!Ýþöì“þ xîŸÄ£z •›Å‡Ýþ ‰þœöìŠé– „þyîû’ ö¢…yöì˜ ‰þyîû!”öì„þ ²Ì£îûy îûöìëûöìŠé ~î‚ ‰þyîû!”öì„þ ²Ì£îûy ö”…y ëyëû ~„þ›ye 
öë…yöì˜ •›Å‡Ýþ ‰þöìœÐ 

   iii) ö„þy˜ ö„þy˜ !ŸÖ !îöìî‰þ„þ ˜ëû– „þyîû’ ¢î !ŸÖîûy£z xdöì„þ!w„þ xyîû ö„þy˜ xydöì„þ!w„þ£z !îöìî‰þ„þ ˜ëûÐ    

  xyV !˜Á¬!œ!…“þ ë%!_«!Ýþîû xy„þyîû !˜•Åyîû’ „þöìîûy ~î‚ ÷î•“þy þ™îû#Çþy „þöìîûy ƒ [4] 

   ë!” „þyœÅ „þöìœ‹ “þ£!îœ “þŠéîû&þ™ „þöìîû íyöì„þ˜– “þy£öìœ „þyœÅ ›yîûyd„þ xþ™îûyöì• xþ™îûy•#Ð „þyœÅ „þöìœ‹ “þ£!îœ “þŠéîû*þ™ 
„þöìîû˜!˜Ð ¢%“þîûy‚ „þyœÅ ›yîûyd„þ xyþ™îûyöì• xþ™îûy•# ˜ëûÐ  

  £zV ¢‚!Çþ® ˜Äyëû „þyöì„þ îöìœÚ ¢‚!Çþ® ˜Äyöìëûîû ~„þ!Ýþ vþz”y£îû’ ”yçÐ [3] þ 
 

£zvþz!˜Ýþ éôé 2 

7Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×5]þ 

 „þV xþ™)’Å †’˜y›%œ„þ ë%!_« „þyöì„þ îöìœÚ 

 …V ÷àþöì„þy ²Ì„þÒ „þ#Ú 

 †V xyî!ŸÄ„þ ç þ™ëÅy® Ÿöì“Åþîû ›öì•Ä þ™yíÅ„þÄ „þ#Ú 

 ‡V ¢½þyîÄ“þy †’˜yîû þ™)îÅ“þƒ !¢kþ “þ_´!Ýþ „þ#Ú 

 

8Ð öë ö„þy˜ ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ  

 „þV öë ö„þy˜ ”%!Ýþ !î¡ìöìëûîû vþzþ™îû Ýþ#„þy öœ…Ð [7½+7½]  

  xV ÷îKþy!˜„þ ²Ì„þöìÒîû Ÿ“Åþyîœ# 

  xyV ¢£ þ™!îûî“Åþ˜ þ™kþ!“þ 

  £zV vþzþ™›y›)œ„þ ë%!_« ›)œÄyëûöì˜îû ›y˜”[þ 
 

 …V ˜#öì‰þîû ²ÌÙÀ=!œîû vþz_îû ”yç ƒ  

  xV ¢½þyîÄ“þy †’˜yîû xyöìþ™!Çþ„þ ‡Ýþ˜y öþ™ï˜þ™)!’„þ“þy “þ_́!Ýþ „þ#Ú [3] 

  xyV !˜Á¬!œ!…“þ öë ö„þy˜ !“þ˜!Ýþîû ¢½þyîÄ“þy †’˜y „þöìîûy ƒ [3×4] 

   i) ~„þ!Ýþ ›%oyöì„þ þ™îûþ™îû ‰þyîûîyîû !˜öìÇþþ™ „þîûöìœ xhsþ“þƒ ~„þîyîû ö£vþ þ™yçëûyîû ¢½þyîÄ“þy „þ“þÚ 

  ii) ”%!Ýþ œ)öìvþyîû ‡%¥!Ýþöì„þ ~„þ¢öìD ”y˜ !”öìœ “þyöì”îû |kÅþ!þ™öìàþîû öëy†šþœ 4 £çëûyîû ¢½þyîÄ“þy „þ“þÚ 

  iii) ~„þ!Ýþ þ™yöìe 6!Ýþ œyœ îœ– 4!Ýþ ¢y”y îœ ~î‚ 5!Ýþ „þyöìœy îœ xyöìŠéÐ öšþîû“þ ˜y !”öìëû þ™ye!Ýþ öíöì„þ þ™îûþ™îû !“þ˜!Ýþ 
îœ “%þœöìœ !“þ˜!Ýþ£z „þyöìœy £çëûyîû ¢½þyîÄ“þy „þ“þÚ 

  iv) ~„þ vþy_«yöìîûîû ö‰þÁºyöìîû þ™¤y‰þ!Ýþ ”îû‹yÐ ‰þyîû‹˜ îû&†# ~„þ£z ¢›öìëû “¤þyîû ö‰þÁºyöìîû ~öìœ˜Ð ‰þyîû‹˜£z ~„þ£z ”îû‹y !”öìëû 
“¤þyîû ö‰þÁºyöìîû ²ÌöìîŸ „þîûöìî˜ éôé ~ ‡Ýþ˜yîû ¢½þyîÄ“þy „þ“þÚ 
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English Version 

[Use separate Answer Books for each group] 
 

Group - A 
 

Unit - I 
1. Answer any two of the following : [2×5]þ 
 a) Are knowledge and belief identical? Answer after Plato. 

 b) Explain, after Aquinas, the first-cause argument regarding the existence of God. 

 c) What, acording to Plato are the characteristics of Ideas? 

 d) What does Aristotle mean by ‘material cause’ and ‘formal cause’? 
 

2. Answer any one of the following : 

 a) What, according to Plato, are the characteristics of knowledge? Explain Plato's view that sense 

perception is not knowledge. [5+10] 

 b) Explain any three objections raised by Aristotle, against Plato's theory of ideas (excluding the Third 

man argument). What is Aristotle's 'Third man argument' against Plato? [12+3]  
 

Unit - II 
3. Answer any two of the following : [2×5]þ 
 a) 'I think, therefore, I am' — Is it a syllogism? Discuss. 

 b) Explain, after Spinoza, the relation between substance and attributes. 

 c) Distinguish, after Leibniz, between truths of reason and truths of fact. 

 d) How does Spinoza define 'modes'? Discuss. 

 

4. Answer any one of the following : 
 a) What, according to Descartes, is the criterion of truth? How does he arrive at this criterion? Is the 

criterion acceptable to you? Give reasons for your answer. [2+8+5] 

 b) Leibniz's theory of monads. If monads are windowless then how is the relation among monads 

possible? Discuss after Leibniz. [8+7] 
 

Group - B 
 

Unit - I 
5. Answer any two of the following : [2×5]þ 
 a) What are the differences between the traditional and Boolean interpretations of categorical 

propositions? 

 b) What is the difference between truth functional compound statement and non-truth functional 

compound statement? 

 c) What is meant by 'paradox of material implication'? 

 d) Explain briefly the different senses of 'or' with appropriate examples. 
 

6. Answer any one of the following :  

 a) Answer the following :  
  A. Translate the following sentences into logical form of categorical proposition. [4] 

   i) Popular preachers are not always efficient logicians. 

   ii) All is well that ends well. 

   iii) There are white elephants 

   iv) Students can enter only through the front door. 
  B. Discuss the different kinds of categorical propositions according to class relationship. [4] 

  C. How many classes can be obtained by intersecting two circles? Explain. [3] 

  D. At which step does the following argument commit existential fallacy? [4] 

 



(4) 
 

     1. It is false that some mermaids are poets. 
     2. It is false that some poets are mermaids. 
     3. It is true that some poets are not mermaids. 
 

 b) Answer the following :  
  A. Translate the following categorical syllogisms into their standard form, identify their mood and 

figure, test their validity by means of Venn diagram technique and name the fallacies, if found 

invalid (any two) [4+4] 

  i) All proteins are organic compounds, from which it follows that all enzymes are proteins, as 

all enzymes are organic compounds. 
  ii) There must be strike at the factory, for there is a picket line there and pickets are present 

only at strikes. 
  iii) Some children are not considerate, since all children are egoists and no egoists are 

considerate.    
  B. Determine the form of the argument and test its validity : [4] 

   If Carl embezzled the college funds, then Carl is guilty of a felony. Carl did not embezzle the 

college funds. Therefore, Carl is not guilty of a felony.   
  C. What is enthymeme. Give an example of an enthymeme. [3] þ 
 

Unit - II 
7. Answer any two of the following : [2×5]þ 
 a) What is induction by simple enumeration? 

 b) What is ad-hoc hypothesis? 

 c) What is the difference between necessary and sufficient condition? 

 d) What is the a-priori theory of computing probability?  

 

8. Answer any one of the following :  

 a) Write notes on any two of the following : [7½+7½]  
  A. Conditions of scientific hypothesis 

  B. Method of concomitant variation. 

  C. Criteria of evaluating analogical arguments. þ 
 

 b) Answer the following questions :  
  A. What is the relative frequency theory of computing probability? [3] 

  B. Compute the probability of any three of the following : [3×4] 

   i) What is the probability of getting at least one head in four successive tosses of a coin? 
  ii) If two dices are thrown at the same time, what is the probability that the sum of their top 

faces is 4? 
  iii) A container contains 6 red balls, 4 white balls and 5 black balls. If three balls drawn 

successively from the container and not replaced before next draw, what is the probability 

that the balls are all black?  
  iv) A doctor's chamber has five doors. Four patients came to the chamber at the same time. 

What is the probability that all four of them will enter into the chamber by the same door.   
 

 

 

 


